All rightsreserved. ©2009

LaserPerformance. LaserPerformance and
associated logos are trademarks. Laser,

SB3, Sunfish, and Dart are trademarks used

under license. LaserPerformance reserves the right
to make design and/or specification changes to any
of their products as part of their continuous
development program.

Club FJ PartsL ocator



91372 Inspection Port
(not shown)

91255 U-bokt __ —

91013 backup bar

91217

91198
91051

91074 1/4x 1" pin FJ Hull and Deck

91442 1/4" ring
Jib Tack Pin Options:

91166 Fastpin
91077 3/16 pin w/ring

90413 Mast step bolt
90550 Mast step nut

91255 U-bolt
91013 backup bar

9121/
Spring

— 91446

| 91131 Hiking strap plate (not shown)

91440 —

91217 Bpring
91098 Eyestrap

91132 Hiking Strap set, 2 of each
91136 Forward Hiking Strap, 36"
91135 Aft Hiking Strap, 28"

91440

Drain Plugs

91090 Grey, Holt Allen
91085 Black, Beckson, CURRENT
91086 Black, RWO

91088 White, Bayonette

91219 Transom Stiffener



FJ Cal Style Spars

90510 Complete Hounds Assembly

i N

90420

L —
90587 4)) ﬂ l\
——i 90567
90586 91077
90410

90548 Masthead Assembly
90579 Masthead Sheave
91074 1/4" x 1in pin
91442 1/4" ring

. Ly
18602 Mast, Cal Style, JRV, Rigged with spinnaker gear
18600 Mast, Cal Style, SCV, Rigged
90207
90503
90018 Spreaders (pair)
90490 Complete Gooseneck 90016 Spreader Tips(1) 90570
e 90555
ﬁ 90498 90491
y AN i . 90509
' T i 1/4"x 3/4"” pin and ring
3/8x1x1/2" washer 90583
ehle 17675 Spin Pole
91339 91327

90456

91205

90467 91341

18650 Boom Rigged

90605 Complete Vang

91070

——91339

90559



FJ Collegiate Style Spar s

90548 Masthead Assembly
90579 Masthead Sheave

90510 Complete Hounds Assembly 91074 1/4” x 1in pin

7 ™~ 91442 1/4" ring
90420
90567 Ring for Main Halyard
@ ' : L\mmw:ﬂ (not pictured)
- .
90587 @] Q
o —y T
90586 91077 AN
90410 3
L 9 i
90218 Shroud
90206 Forestay
90490 Complete Gooseneck
90555
90659 90491
90498

90018 Spreader Pair
90016 Spreader Tips

3/8-16x2" SS Bolt o )
with pin and rings

3/8x1x1/2" washer

1/4"x 3/4"” pin and ring

00583
90404 91327

91205
9046/ 91341

91336
18650 Boom Riaaed

90605 Complete Vang

91330

91070

18601 Mast, FJ, SCV, Rigged with running and standing rigging
89039 Mast, FJ, SCV, Unrigged
18600 Mast, FJ, SCV, Cal Style, Rigged without spinnaker gear



FJ Blades

85211 - Rigged FJ Tiller

=¥ g5152 Complete FJ Rudder

“»——————— 85165 Spacers

85133
r 85091
85076 . -
85238 s b
— 85090 Gudgeon Bushing
Cal Style Pintles:

85093 - Upper
85092 - Lower

&—— 85117 - Blade only
85116 - Cal Style Blade Only

85212

85151 Rigged Cal Style Rudder

X 85134

a1NARA '\\&x 85024 FJ Centerboard

85215 - Rigged
85213 - Unrigged




FJ Technical I|nformation

Hull Weight 230 Ibs 104 kg
LOA 13.3 ft 4.1m
Beam 5.4 ft 1.3m
Draft 3.0ft 1.0m
Main Sail Area 80 sq ft 5.9 msq
Jib Sail Area 30 sq ft 3.4msq
Spinnaker Sail Area 95 sq ft 7.4 msq
FJ Line Specifications
Description Diameter (in)  Diameter (mm) Type Length Quantity
Centerboard Keeper 3/16in 5mm shockcord 3.5ft 1
Centerboard Uphaul 3/16in 5mm prestretch 8.5 ft 1
Hiking strap aft tie down 3/16in 5mm prestretch 3.5ft 2
Hiking strap center tie down 3/16in 5mm prestretch 1ft 4
Hiking strap forward tie down 3/16in 5mm prestretch 3ft 2
Hiking strap lifter 1/4in 6mm shockcord 2 ft 4
Painter 5/16 in 8mm prestretch 10 ft 1
Spinnaker bag shockcord 3/16in 5mm shockcord 2ft3in 1
Spinnaker block lines 2mm dyneema 2 ft 2
Trapeze Retractor 3/16in 5mm shockcord 11 ft 1
Vang 3/16in 5mm prestretch 14 ft 1
Rigging
Cunningham 3/16in 5mm prestretch 5ft 1
Outhaul 3/16in 5mm prestretch 10 ft 1
Main Halyard 1/4in 6mm prestretch 40 ft 1
Topping lift 3/16in 5mm prestretch 25 ft 1
Spinnaker Foreguy 3/16in 5mm shockcord 14.5ft 1
Spinnaker Halyard 5/32in 4mm prestretch 38 ft 1
Jib halyard tail 1/4in 6mm prestretch 16 ft 1
Jib halyard wire 1/8, 7x19in Ss wire 13.75 ft 1
Sheets
Mainsheet 5/16 in 8mm braid on braid 30 ft 1
Jibsheet 5/16 in 8mm braid on braid 30 ft 1
Spinnaker Sheet 1/4in 6mm dyneema 50 ft 1



FJ Parts& Accessories List

Accessories

83009 FLAG, PROTEST 11.95 EA
83026 RETRO KIT, FJ W/SPINNAKER 1,302.50 KIT
Blades
85014 C/B GASKET RETAINER, FJ,ALUMINIUM 38 3/4" 82.00 EA
85015 C/B GASKET, MYLAR, 2" 1.35 EA
85023 CENTERBOARD STOP, FJ 4.50 EA
85024 CENTERBOARD, FJ, FIBERGLASS 412.00 EA
85042 GASKET END, FJ, CENTERBOARD 7.15 EA
85049 GASKET, FJ CENTERBOARD (40" 25.00 EA
85076 LANYARD, RUDDER DOWNHAUL,420/FJ/V15 18.20 EA
85090 PINTLE, 420/FJ/V15, LOWER HD, 4 HOLE MOUNTING 24.00 EA
85091 PINTLE, 420/FJ/V15, UPPER HD, 4 HOLE MOUNTING 24.00 EA
85092 PINTLE, FJ/1420, LOWER, CALSTYLE, 2 HOLE MOUNTING 23.00 EA
85093 PINTLE, FJ/1420, UPPER, CALSTYLE, 2 HOLE MOUNTING 23.00 EA
85116 RUDDER BLADE, FJ, CAL STYLE 312.50 EA
85117 RUDDER BLADE, FJV15 296.50 EA
85133 RUDDER HEAD, 420/FJ, EXTRUDED 271.50 EA
85134 RUDDER HEAD, FJ, CAL STYLE 212.50 EA
85151 RUDDER, FJ, CAL STYLE, RIGGED 449.00 EA
85152 RUDDER, FJ, RIGGED 494.00 EA
85165 SPACER, THREADED, RUDDERHEAD, LONG, 7/8", 420/FJ/V 6.40 EA
85167 SPACER, THRU, RUDDERHEAD, LONG 7/8", FJ/V-15 ONLY 6.35 EA
85192 TILLER EXTENSION, 30" 47.00 EA
85193 TILLER EXTENSION, 33" 47.00 EA
85211 TILLER, FJ\V15, ALUMINUM,RIGGED 182.50 EA
85212 TILLER, FJ/V15, ALUMINUM,UNRIGGED 131.00 EA
85213 TILLER, FJ, BARE, CAL STYLE, WOOD, CURVED 144.00 EA
85215 TILLER, FJ, RIGGED, OLD, CURVE 198.00 EA
85238 STOP, RUDDER LIFT 7.70 EA
85245 UNIVERSAL, BLACK, OMNIFLEX 8.85 EA
85265 BUSHING, GUDGEON, 420/FJ/V15, EXTRUDED RUDDER HE 2.80 EA
91066 CLEAT, CLAM, BLACK, PLASTIC 5.40 EA
Covers

87142 BLADE BAG, 420/FJ, STORM 113.00 EA



Hull and Deck Hardware

85016 C/B PIVOT BOLT, COMPLETE W/ RUBBER WASHERS 34.00 EA
90413 BOLT, MAST STEP, V15/FJ 1.05 EA
90545 MAST STEP, V15/FJ 55.00 EA
90550 NUT, MAST STEP, V15/FJ 0.80 EA
91001 RUB RAIL, VINYL, 30" COILS 101.00 EA
91002 RUB RAIL, VINYL, HD, PLATINUM, 32 ft section 111.00 EA
91013 BACKUP, 2-HOLE, 1/4" HOLE, AL,U-BOLT, 5/8" X 5" ROD 16.25 EA
91024 BAILER, 420/ FJ, TRANSOM BALL W/SHOCKCORD 24.00 EA
91046 BOW BUMPER, FJ SCV,MOLDED 75.00 EA
91051 BOW PLATE, ONE PIECE, W/BACKUP& FASTENERS 28.00 EA
91052 BRACKET, HD, "U" 14.55 EA
91060 BUSHING, SMALL, SCREW-DOWN 8.75 EA
91064 CLEAT, CLAM, ALUMINUM, PORT, FJ 17.00 EA
91065 CLEAT, CLAM, ALUMINUM, STRBRD, FJ 17.00 EA
91070 CLEAT, HORN, 3 3/4",ALMAG BLACK 14.10 EA
91074 CLEVIS PIN, 1/4 X 1 2.05 EA
91075 CLEVIS PIN, 1/4x 1 1/4 3.60 EA
91076 CLEVIS PIN, 1/4 X 3/4, W/IRING 7.35 EA
91085 DRAIN BUNG, BECKSON 4.60 EA
91086 DRAIN PLUG ASSY, BLACK, RWO 4.60 EA
91088 DRAIN PLUG, BAYONET, COMPLETE 7.60 EA
91090 DRAIN PLUG, GREY, (1) 8.20 EA
91098 EYESTRAP, LARGE, 4 HOLE 8.20 EA
91107 FAIRLEAD, W/SS INSERT 7.95 EA
91131 PLATE, HIKING STRAP, 420/FJ 9.35 EA
91132 HIKING STRAP SET, FJ, HD,WHITE 93.50 EA
91135 HIKING STRAP, FJ/ LASER, 28" 20.00 EA
91136 HIKING STRAP, FJ/ V15, 36" 25.00 EA
91166 PIN, FAST, JIB TACK, 1/4" 8.45 EA
91193 RUB RAIL, VINYL, 32' COILS 122.00 EA
91196 SHACKLE W/ CLEVIS PIN, MAST 4.50 EA
91198 SHACKLE, BOW W/SCREW PIN, 1/4", HARKEN 5.40 EA
91199 SHACKLE, BOW W/SCREW PIN, 1/4", RONSTAN 6.90 EA
91203 SHACKLE, TWIST, 3/16" 6.15 EA
91217 SPRING, STANDUP, LARGE 2.05 EA
91219 STIFFENER,TRANSOM, FJ, 4-HOLE 65.00 EA
91255 U-BOLT, 1",1 1/2"x1/4-20, W/ DRESS NUTS 6.15 EA

91283 BLOCK,RATCHET,SINGLE, 3" W/Shackle 75.00 EA



91312
91323
91327
91330
91334
91335
91336
91337
91338
91339
91340
91341
91372
91440
91446
95800
Sails
94500
94501
94502
95807
95845
95846
95853
95861
95871
95875

BLOCK, BULLET, SMALL

EYESTRAP, LARGE, 2 HOLE

CLEAT, CLAM, ALUMINUM
BLOCK,MICRO,FIDDLE W/JAM

BLOCK, MICRO, THRUDECK

BLOCK, MICRO, SINGLE, SWIVEL
BLOCK, MICRO, SINGLE W/BECKET
BLOCK, MICRO, SINGLE

BLOCK, MICRO, CHEEK

BLOCK, CHEEK, 29mm CARBO
BLOCK, CARBO, SINGLE, 40MM
BLOCK, CARBO, 90 DEGREE, SINGLE, 40MM
INSPECTION PORT, 5 IN

EYESTRAP, FORGED

JIB TRACK, FJ, HARKEN, CURRENT
BAG, 420/FJ, SPINNAKER, BLUE MESH

SAIL, CFJ, MAIN, W/BATTEN

SAIL, CFJ, JIB

SAIL, CFJ, SPINNAKER, BLUE STRIPE

BAG,SAI L,420/V1 5, FJ/OPTISPAR

NUMBER, SAIL, BLUE, 12", INDIVIDUAL NUMBERS
NUMBER, SAIL, RED, 12", INDIVIDUAL NUMBERS
NUMBER, SAIL,BLACK,12", INDIVIDUAL NUMBERS
BATTEN SET, CFJ, MAIN

BATTEN TIP, ADJUSTABLE

BATTEN, FJ, TOP, COMPRESSION

12.30

2.90
14.35
25.00
25.00
17.00
11.80
10.25
14.10
13.05
28.00
25.00
18.00

3.65
31.80
74.00

531.50
280.00
357.00
58.00
3.75
3.75
3.75
43.00
3.20
19.00

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA



Spars and Spar Hardware

17675
18600
18601
18602
18650
89039
90003
90016
90018
90206
90207
90218
90403
90404
90406
90410
90420
90445
90456
90467
90490
90491
90498
90503
90509
90510
90548
90555
90559
90567
90568
90570
90578
90579
90583
90586
90587

SPINNAKER POLE, 420/FJ, RIGGED

MAST, FJ SCV, CAL STYLE, RIGGED

MAST, FJ SCV, RIGGED

MAST, FJ, JRV, CAL STYLE, RIGGED WITH SPIN GEAR
BOOM, FJ, RIGGED

MAST, FJ SCV, UNRIGGED

BRACKET, SPREADER, W/PINS

SPREADER TIP W/ PIN & RING (1)

SPREADER, AIRFOIL, 420/FJ, 16"

FORESTAY, FJ, 1/8 WIRE, 164" BP TO BP
FORESTAY, FJ, CAL STYLE
SHROUD, FJ, SS, 1/8

BAIL, BOOM, 1 5/8W X 1 3/4" D"

BAIL, BOOM, HEAVY DUTY

BAIL,VANG 1/4 ROUND, SLOOPMAST

BLOCK, SINGLE WIRE SHEAVE

BRACKET, HOUNDS, 420/FJ/V15 MAST

CLEVIS PIN, 3/16", W/SPLIT RING

END FITTING, SPINNAKER POLE

GASKET, BOOM END, BLACK VINYL
GOOSENECK ASSEMBLY, 420/FJ/V15
GOOSENECK BRACKET, 420/FJ/V15
GOOSENECK UNIVERSAL

HALYARD, FJ, JIB WIRE W/TAIL

HOOK, TOPPING LIFT

HOUNDS ASSEMBLY, W/TANGS

MASTHEAD ASSEMBLY, 420/FJ SCV,WITH WHITE SHEAVE
PIN, FAST, W/LANYARD, 420/FJ/ V15, FOR GSNK BRACKET
PLUG, MAST HEEL, W/TENON,420/V15

RING, MAST, 3/16, SS

RING, SPINNAKER POLE, 420/FJ
SHACKLE, JIB HALYARD, WICHARD

SHEAVE, 420/FJ/V15, MAST HEAD, HARKEN
SHEAVE, MASTHEAD, DWYER, CURRENT
SHROUD ADJUSTER, 1/4 WITH PINSAND RINGS
SHROUD TANG, INSIDE
SHROUD TANG, OUTSIDE

191.50
833.50
989.00
990.00
360.00
620.00
74.25
12.05
46.00
57.00
54.00
55.00
11.20
16.45
17.00
23.00
46.00
2.30
43.00
3.45
84.00
41.00
14.05
69.00
13.60
91.00
59.00
33.00
36.00
3.35
29.00
18.00
10.05
6.65
16.15
5.85
5.85

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA

10



90605
90659
91077
91099
91100
91197
91200
91205
91211
91213
91250
91312
91327

91442

VANG, FJ/V15/420

PIN, FAST, MAIN TACK, 1/4"
CLEVIS PIN, 3/16 X W/ SPLIT RING (1)
EYESTRAP, LOOPED

EYESTRAP, REGULAR, 2-HOLE
SHACKLE, 1/4" PIN

SHACKLE, D-RING, 3/16"
SHACKLE, W/PIN&RING, 3/16"
SPACER, 1/4 X 1/2 OD X 3/16 HOLE
SPACER, 3/8 X 1/2 OD X 3/16 HOLE
BLOCK, MICRO, LIMITED SWIVEL
BLOCK, BULLET, SMALL

CLEAT, CLAM, ALUMINUM

RING, SPLIT, LARGE (10)

Spinnaker Conversion Kit
These items are needed to add the spinnaker system to an FJ

91060
91064
91065
91099
91100
91107
91285
91312
91327
91328
95800

BUSHING, SMALL, SCREW-DOWN
CLEAT, CLAM, ALUMINUM, PORT, FJ
CLEAT, CLAM, ALUMINUM, STRBRD, FJ
EYESTRAP, LOOPED

EYESTRAP, REGULAR, 2-HOLE
FAIRLEAD, W/SS INSERT

CLEAT, CAM, MICRO, HARKEN
BLOCK, BULLET, SMALL

CLEAT, CLAM, ALUMINUM

CLEAT, CAMMATIC, HARKEN 365
BAG, 420/FJ, SPINNAKER, BLUE MESH

Discontinued Items

85060
85223
91227
91229
91230
91345
90459
90540
90549
90553
90652

GUDGEON, 420/FJ/V15, RUDDER

TILLER, V15/FJ, UNRIGGED, THRUTRANSOM

TRACK END STOP, JIB, 5/8"

TRACK SLIDE, JIB, 5/8"

TRACK, JIB, 5/8 SS 12" LONG

SHROUD PLATE, 1/4 HOLE

FASTENER FOR MAST STEP, BOLT & NUT,1/4-20 X 1 1/2"
MAST STEP, FJ, COMPLETE WITH FASTENERS
MASTHEAD ASSEMBLY, 420/FJ/V15

PIN, FAST, GOOSENECK LOCKING

WI RE, MAST GOOSENECK BRACKET- BOOM GOOSENECK

69.00
8.70
8.70
2.80
2.55
5.90
5.40
3.60
1.30
1.35

30.00

12.30

14.35

9.20

8.75
17.00
17.00

2.80

2.55

7.95
23.00
12.30
14.35
28.00
74.00

14.85
111.00
2.90
29.00
18.00
12.05
8.50
81.00
65.00
19.00
8.40

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA

EA

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA

1



